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e Instructions:
1) Write in a clear legible handwriting,
2) This question paper has four Sections A, B, C & D and Question Numbers from 1 to 54
3) All Sections are compulsory. General options are given.
4) The numbers to the right represent the marks of the question.
5) Draw neat diagrams wherever necessary.
6) New sections should be written in a new page. Write the answers in numerical order.
7) Calculator and smart watch are not allowed.

[ sEcTION -A ]

® Answer the following questions as required(Que. 1 to 24) (1 mark each) (24)
° Choose the right option So that the statement become true (Que. No. 1 to 6) (06)
1. HCF (85,153)=85m-153 thenm =
(A)1 (B)2 €3 (D)4
2. Thegraph of y = p(x) is given below, the number of zeroes of p(x) =
(A)1 (B) 2 €3 (D)o
—
A
X< '—(,*\ »X
\ 4
Y
3. x+2y-4=0and 2x + 4y-12 = 0 the geometrical representation of the pair so formed is
(A) Interesting lines (B) Coincidentlines  (C) Parallel line (D) None of the above
4. quadratic equation 3x2-4vV3x + k = 0 has tlwo equal real roots, then k =
(A)2 (B)-4 (c)-2 (D)4
5. 30"termofthe AP: 10,7, 4, ..... s
(A)97 (B) 77 (C)-77 (D)-87
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6. EandF are points on the sides PQ and PR respectively of a APQR and EF| |QR.IFPE = 4 ¢, py: " F—
and RF =9cm then QE =_ cm. '
(A)1.5 (B)2.5 (C)4.5 (D)3.5 ;

E
Choose the correct answers from the answer given in brackets and wrile the following stalement gy try,|
(Que. No. 7t012) (0

7. 1fthe distance between (-5,7) and (a,3) is 4V2 thena = [0,-1,1] l

8. V1-(sec’d-tan’d)= (2,0,V2) |
9. Aline intersectinga circle in two points is called a [secant, chord, tangent]
10. The minute hand of a clock swept ____angle in 5 minutes [10°, 20°,30°]

11. The total surface area of a cone is . [m1l, 27rth, 7l + 712 ’]

12. Relation between the measures of central tendency is Z=3M- 2X, then 'Z—‘M' i

State whether the following statements are true or false (Que. No, 13 to 16) (04

13. The sum of the probability of all the elementary events of an experiment is zero.

. b
14. The zero of the linear polynomial ax + bis- g [
15. A quadratic equation 100x* - 20x+1=0 has two equal real roots. 1\

16. The distance of a point P(-6, 8) from the origin is -10.

Answer the following questions in one sentence, word or numbers (Que. No. 17 to 20) (04

17. 1f the radius of a sphere is increased by 10% then what percentage of increased in surface aread

sphere?
18. What is the mean of first ten natural numbers?
19. What is the HCF of 18 and 817

20. A quadratic equation 9x’-mx- 1= 0 hastwo oppositeroots then what is the value of m?

|
l
Match following: (Que. No. 21 to 24) (&;

— T .
. ]
21. a+p+y } (a) b i
22. 1 4+ 1 (b £ |
a B b
(C) T

CCeom A7EY Thwu on WY 9“95 {QA‘



' 23. cot30°
' 24.tan45’




{"type":"Form","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Book","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Form","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}



